
8078 8078.5 8079 8079.5 8080
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

23.5−

23−

22.5−

22−

21.5−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

99−

98.5−

98−

97.5−

97−us
l_

1X
usl_1X:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

1−

0.5−

0

0.5

1us
l_

4a
Y

usl_4aY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

37

37.5

38

38.5

39

us
l_

4e
X

usl_4eX:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

18.5

19

19.5

20

20.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

38.5−

38−

37.5−

37−

36.5−

us
l_

12
X

usl_12X:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

143.5−

143−

142.5−

142−

141.5−us
r_

1X

usr_1X:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

201.5

202

202.5

203

203.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

13

13.5

14

14.5

15

us
r_

4e
Y

usr_4eY:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

38.4−

38.2−

38−

37.8−

37.6−

37.4−

37.2−

37−

36.8−

36.6−

36.4−

36.2−

us
r_

12
X

usr_12X:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

34277.2

34277.4

34277.6

34277.8

34278

34278.2

34278.4

34278.6

34278.8

34279

34279.2

34279.4

us
l_

co
il1

usl_coil1:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7047

7047.2

7047.4

7047.6

7047.8

7048

7048.2

7048.4

7048.6

7048.8

7049

7049.2

us
l_

co
il3

usl_coil3:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

3970.2

3970.4

3970.6

3970.8

3971

3971.2

3971.4

3971.6

3971.8

3972

3972.2

3972.4

us
l_

co
il4

usl_coil4:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

318.5−

318−

317.5−

317−

316.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

14461

14461.5

14462

14462.5

14463

us
l_

co
il7

usl_coil7:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

29902−

29901.5−

29901−

29900.5−

29900−us
r_

co
il1

usr_coil1:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

5799−

5798.5−

5798−

5797.5−

5797−us
r_

co
il3

usr_coil3:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

3459

3459.5

3460

3460.5

3461

us
r_

co
il4

usr_coil4:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

278−

277.5−

277−

276.5−

276−

us
r_

co
il6

usr_coil6:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

17948.5

17949

17949.5

17950

17950.5

us
r_

co
il7

usr_coil7:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

456−

455.5−

455−

454.5−

454−1X
_c

oi
l1

1X_coil1:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

76.5−

76−

75.5−

75−

74.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

30.6

30.8

31

31.2

31.4

31.6

31.8

32

32.2

32.4

32.6

32.8

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

513−

512.5−

512−

511.5−

511−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

99−

98.5−

98−

97.5−

97−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

29.5

30

30.5

31

31.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

166.5

167

167.5

168

168.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

67.6

67.8

68

68.2

68.4

68.6

68.8

69

69.2

69.4

69.6

69.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

10.5−

10−

9.5−

9−

8.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

180

180.5

181

181.5

182

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

9−

8.5−

8−

7.5−

7−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7129}



8078 8078.5 8079 8079.5 8080
cyclenum

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

237−

236.8−

236.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

88−

87.5−

87−

86.5−

86−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

0.5

1

1.5

2

2.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

442−

441.5−

441−

440.5−

440−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7129}

8078 8078.5 8079 8079.5 8080
cyclenum

7127

7127.5

7128

7128.5

7129

7129.5

7130

7130.5

7131

ru
n

run:cyclenum {run == 7129}
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